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Read the fllowing b® 50 questions out of which 40 qu
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% (i) Section B has 20 questions. Attempt any 16 questions [1.
u 40. V.- 2,

paper contains
] u

od. All questions carry eq

hree Sections : A, Band C.

tempt any 16 questions from Q. No.

estion paper contains t
tion A has 20 questions. At

()  Section C contains of two Case Studies contgiming 3 questions in each

: case. Attempt any 4 questions from Q. No. 4104

E Q. No. 46 to 50.

(vi)  There is only one correct option fa  every, tiple choice question (MCQ).
Marks will not be awarded [

nst @% & more than one option.
(vii)  There is no negative m«g.

E:ganother 4 from
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ction - A
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20 questions,
1. HCF of 8. Any 16 are to be attempted.)
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6. Two coins are tossed togethe he proablhty of getting exactly one head
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=0.65, then the value of P(not E) is
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w713, Perimeter of a rectangle
breadth (b) is 14 cm, TLE™.
information is

; th (/) is 4 cm more than twice 1t8
Jinear equations representing the above

I-b=4
&) 2(l+b)=14

I=2b+4
@ oy4py=14

D.213 can also be written as
(E) 5.213213213...
() 5.213

() 5.2131313...
(d 5213/1000

15. Th.e ratio in which the point (4, 0) div
points (4, 6) and (4, -8) is

(a 1:2
©

() cosec 90°
(d) cot 90°

a semi-circle at C and its diam

gure, a circle is touching
s of the inner circle ?

— 98 cm, what 18 the radiu

C

(a) 14 cm
(c) 7 cm
P.T.0Q,
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a) \/53 unitg
b 5 unitg
© 25 Unitg

d 10 Unitg

In g right-angled triangle PQR
—cos? R is
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1% origin divides the line segment AB joining the points AL *’g“‘ v

(—3, 9) in the ratio :

dicular bisector of a h

928. The perpen
(0, k). The valu

through a point

@ O only
(d) any non-zero real number
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31. A circle of radius 3 units is . 0). Which of the following points

(e
gt p ""t-.

® ©3)
@ G

f k for which the pair of linear equations 3% * by =

y many solutions, is

(b) 9

15y = 24 has infinitel

is,..
A 5N

33. HCF of two consecutive even numbers

both positive
one positive and one negative

reciprocal of each other

35. The mid-point of line segment joinin

o (3%

(©) ('_—29' , %)
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rs 50 and 20 is

() 50
(d) 500

®) 5
(d) None

40. (1 + tanZ A) (1 +sin A) (1-sin A) 18 equal to 0

2
cos? A

(ﬁ) sec? A
(c) 0
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7 Case Study - I

ball upwards from a rooftop w
all reaches to some maximum height and then retu

hich is 8 m high from

‘1"& f{e rns
e.ground

f the ball at time t (in sec) is represented by h(m), then equatlon

H 8m

41. al
() 8m
(d 10m

42. The polynoml??i'egresen’ced by above graph is
ynormal (b) quadratic polynomial

(c) /cons nt olynomial (d) cubic polynomial

Time taken by ball to reach maximum height is
(G) 4 sec.
(d) 2 min.

] 2 sec.
(c) 1 sec.

44. Number of zeroes of the polynomial whose graph is giv

(@ 1
@ O

4 Zeroes of the polynomial are

(a) 4
0 2,4
430/2/4 P.T.O.
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Dlagrammatlc View 2
ours and design. Geome;fnc desxgn

ctangles, hexagons etc.%
WO trlangles are ,.hlghhghted

jlaple in various col
quares, triangles, re
g shown above. T

Quilts are ‘ava

includes shapes like s
One such design 1

AABC and APQR.

ion, answer the followmg questlons
le for AABC to be similar to

n above informat
er1a 1s not sultab
» '\

Based 0
the following crit

46. Which of
© AQRP?
(@) SAS
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47. I each squa
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